38. Which of the following statement is not correct for acute lymphoblastic
leukemia : e e '

(1) CNSmanifestations may be present.
(2) It has BCR-ABL fusion gene of 210 KD.
(3) Surface expression is positive for TdT .

(4) It has numerical chromosomal change

'39. Increased incidence of malignant tumour in ataxia telangiectasia is due to:

(1) Defective DNA repair (2) Mutatuion of p53 gene
~(3) Mutation of RAS gene (4) Polymorphism of P-450 locus
40. Moﬁoclonal antibody to CD20.(Rituximab)is used in the treétment of :
(1) Carcinoma breast (2) Lymphoma
(3) Hashimoto's thyroiditis ~ (4) Sjogren's syndrome

Attempt any five questions. Write answer in 150-200 words. Each question carries
16 marks. Answer each question on separate page, after writing Question Number.

1. Tubercular meningitis.

2. Er-ythroéytic sedimentation rate (ESR)

3. Anti Neutrophil Cytoplasmic Auto-antibody (ANCA).
4. Glycosylated haemoglobin (HbA1c).

5. Reed Sternberg éell. }

6. Bence Jones Protein,

7.  Tumour markers in serum.

8. Osteoclastoma.

9. Demonstration of amyloid in tissue.

= ~10. - Peripheral blood .and bone marrow finding of megaloblastic anaemia. o
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